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1.  The term Mesophyl

(A) Aquatic plants

marine walers

(B) These are plants @f

with optimum soil water

prevailing for major part of

(C) Plants growing in exireme Wea
conditions

(D) Under water growing plants

i i
es implies tha
ngiﬂQ in fresh an

ther

2. Who among the following leaders moved
“Objective Resolution” in the Constitutional
Assembly 7
(A) Jawaharlal Nehru
(B) Dr. B. R. Ambedkar

(C) Dr. Rajendra Prasad
(D) Vallabh Bhai Patel

3. The war of Kurukshetra was narrated to
Dhritarashtra by

(A) Shankaracharya
(B) Madhvacharya
(C) Sanjay

(D) Vallabhacharya

4. It2is a zero of polynomial

f(x) = ax*=3(a - 1) x = 1, then value
olals

N %
(B -%

©) =Y
(D) None of thesa

5. 5000 years old Indus valley civilization,

found in the present day District.
(A) Ranchi (B) Hisar
(C) Kurukshetra (D) Angeerasa

1.

LR TR

(A) @R A HS 91 § I a1t FeArd 0y

(B) 37 & Aferrr v # 9T 9 e
Iugaa ga1 e feafadt 4 9e1 H I
T Y #

(C) ftrpe sitgy 1§ Idam 1Y

®) U F e a0

ffafaa # @ F1A-8 3491 3 G 891 1

“Itva w7

(A) HEATETATA AE®

(B) =. #fi. 3. EEw

(C) =i Tz THR=E

(D) aeeI¥ ¥TE 72

FH4A F g 1 AU Y 4
g1 |

(X) FreRtETE

(B) weATHHE

(C) |s™

(D) FeowT=ETd

gfe FgIEH f(x) = ax? — 3(a — 1) x - 1 FTF
A28, MaFuaaE -

a2
® -%

© -%
(D) ¥ & F1d 74

5000 H1 T &y vt wvaren adum i
& & faeh

A (8 fir
©) T ©) i
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6. An object 4 ocm

10.

: In size, is placed at 20 cm

'1 a Concave mirror of focal length

o t what distance from the mirror
d Screen be placed in order to obtain

a sharp image ?

(A) 20 ¢m from the mirror

(B) 10 em from the mirror

in front
10 cm,

(C) %‘ cm from the mirror
o 1

3 cm from the mirror

Find the word which is different from the
other 3 options given below.

(A) Mathematics (B) Arithmetic
(C) Algebra (D) Geometry

ISRQO's first woman scientist who recently
spent over 403 days in Antarclica is

(A) Tessy Thomas
(B) Mangala Mani
(C) Nandini Harinath
(D) Anuradha T. K.

New States come to exist through union,
consolidation, confederation etc. Here
confederation refers to

(A) Form of Union where Centre is strong
and States are weak

Form of Union where States are strong
and Centre is weak

Some States have strong power and
Centre is also strong

Equal power sharing between Centre
and States

(B)
(C)

(D)

Find the number which is not like the other
3 numbers.

(A 1 ® 2i
©) ©) i
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6.

10.
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' =T 4 W, . SR U e
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:ﬁaﬁgrmgﬁaﬁ’ﬁﬁﬁfﬁ:lﬁmﬂil
{A} Tl'fﬁl?'l {E} EHEF'TF'JTH
©) i (D) waHid

<t (ISRO) 1 weeh wfean St e
o1 & 3 siefaea 1 403 feril A s fa
=T AR

(A 2H1 aTHE

(B) el Hiv

(c) Afet gfieny

0 TS U, A S §h AT A

sifeaea i oA § | T81 99 | HaiHd

(A) T = =Y T @z wiFaed it T
FHSN B &

(B) HY F1 ¥9 Fel U4 e i F3
FHSN B B

(@) Fo Tsal § i wifEw €l @ 3
Fz off nifEe v 2

(D) Fz 3 7=t <t wEE w9 ° wfEd
=1 e g 2

TE HET I S 3 3 wEm a0
ECAR

(A 14 ®) 3

(@) :% (D) 15-%
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11. The values of x and y satisfying the
X _Y_4are
equation 2[§J+§=Eﬂ”"§#n ol
(A) x=a,y=b
(B) x=2a, y=—2b
(C) x=a,y=-b

(D) x=2a,y=2b

12.  Skill of archery was the test in the
sSwayamvara of

(A) Parvati
(B) Gouri
(C) Meenakshi
(D) Draupadi

13. The device which converts sound 10
electrical vibrations
(A) Speaker
(B) Microphone
(C) Integrated Circuit (IC)
(D) Stereoscope

14. During the debate on citizenship in the
Constitution Assembly, a famous quote,
“There cannot be any divided loyalty”, is
said by

(A) B.N. Rao

(B) Somnath Lakhiri

(C) Govind Vallabh Pant
(D) None of the above

15. Findthe missing letter

| S (?) from the opti
forDW, 2, Lo, PK, TG, xC. .
(A) FU

(8) EV
(C) HS
(D) IR

11.

12.

13.

14,

15.

I 000N

g 2[5%&3& =L -adug

0 a1 x 3R y F A
(A) x=a,y=b
(B9 x=2a,y=-2b
(C) x=a,y==b
(D) x=2a,y=2b
darsit =1 #19e
Tt ot |

(A) gred

(8) T

(C) et

(D) Zudh

A% 39 S €afd 1 feregm q § aeer 2
(A) FdTet

(8) HIEFIHH

(C) g ity (smé..)

(D) =iy

;!rg;mmiimmm%aﬁm.ﬁ
FA, [ER e
ﬁﬂ‘l%mm:}fiﬂm ™
(&) . w1, g

(B) ATy wfied

(C) MfE= avey dg

(D) ¥ & =rd 7

DW,?7,LO, PK, TG, XC3 EE o
HET (7) 14 1 | i ik,

(A) FU
(B EV
(C) HS
D) IR

=

 HEgEy
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16.
Which of the following statements is wrong

17.

18.

19.

t Deccan Plateay 7
(AY" This is bordered by the Western Ghats
In the west, Eastern Ghats in the east
and the Satpura, Maikal range and
Mahadeo hilis in the north
its western hills locally known Dy
different names such as Sahyadri In
Maharashtra, Nilgiri hills in Karnataka
and Anaimalai hills in Tamil Nadu and
Cardamom hills in Kerala
Anaimudi, the highest peak of
Peninsular plateau is located on the
Anaimalai hills
The Eastern and the Western Ghats
rn:aet each other at the Shabarimala
hills

(B)

(C)

(D)

Mahabharata war was fought during
(A) 900 BC (B) 800 BC
(C) 700BC (D) 600 BC

The potential difference between 2 points in
a current carrying conductor when 1 joule of
work is done to move a charge of 1 coulomb
from one point to the other

(A) 1 ampere (B) 1 voll

(C) 1 newton (D) 1 ohm

In order to improve the condition of children,
has been implemented in Haryana.

(A) Integrated Child Development
Project

(B) Innovational Child Development Plan

(C) Indian Child Development Plan

(D) International Child Development
Project

Solutions of the equation

J3x% +11x +6/3 =0 are

A V2.6 ® 730
©) LE_-.JE (D) fgn-v’ﬁ

16.

17.

18.

19.

20.
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FaE YR F Hay §f PrefafEs § & #-m

FuA TEA R 7

(A) FER Him offem # ofeesdt g, @ #
THl w2 i 3w d wagEl, A Avf
3R e i wmifeat €

(B) ¥H#! gfvadt yeifgal zurfta = @
fafis amt @ 49 7o # wAfz,
| st veifzal si 3 i Fehm
ygifeai & 9 8 A wreh §

(C) =TS, WA 9B ) gaa A
|12l ST i TRt | foum 2

(D) Y= 3R ufrendi 92 v -29 4 wradaen
veifeat w fiyes 8

HEMTA F 48

(A) 900%. 1. (B) 800%. 4.

(C) 700%. 4. (Dy 600%. 9.

S 1 el ST ] U feIg d 26 o o W

% T 1 =1 =01 v 2 2, Forga e W
A g & oftw P

(A 1 ufEER (B) 1392
(C) 17 (D) 1Hm®™
BIET H &=t 1 feafa gum &
Wﬁﬁﬁmwnﬂ% |%q
(A) THEFa 7 faFma i

(B) Tawas a1e fasm g

(€) et =1 g e

(D) ST =et farmr e

% 4R 23 |

FHFT V3x% + 11 + 6.3 =0 FEad
(A) V2,8 8) ﬁzg'm
- V3

[ 3
¥ R
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21.

23,

24,

26.

land a

(A) ﬂnﬂ*ﬂ'ﬁf:h

(B) DﬂE-I‘wm

(C) One-len

(D) Nong DI'IJ'JE.ElbLWE

if ‘GIVE' IS coded as 43, th
as

E[Bs? (B) 27

(C) 36 (D) 37 q

Which of the following form an AP 7

(A) 1,1,2.2,33 .

(B) 0.3.0.33 0333, ...

(C) 2.2,2V2.4...

(D) 3,3+v2,3+242,3+32,...

en TAKE' IS

According to Haryana Municiple Amendment
Act, anymale member contesting urban local
bodies election, must possess

as minimum education.

(A) MBBS

(B) LLB.

(C) 12" Standard

(D) Matriculation

Which of the following statement/s Is/are

true regarding 97" Amendment of th
Dﬂﬂsﬁt?:l‘irnn'? 2

(A) It made the right to form Self Help
Group as a Fundamental Right

(B) Ithasbrought a new provision into the
Pan IV of the Constitution (Di
Principle of State Policy) Podhe

(C) Both are wrong

(D) Both are righy

Mustafabad is renamed as
(A) Brahmavart

(B) SaraswaliNagar

(C) Kisan Nagar

(D) Aryabhatta

22,

23.

24,

an5job

25.

26.

it Bt b e e B ERC R he MM A 1A AR LR B 1 o] 0

it BT 1 R o &3 A T g,

(A) = faerd
(B) U urE
(C) Zgal wm
(D) I H & F1E A€

Al GIVE' 1 %2 43 8, Al TAKE' 1 3
T

(A) 47 (B) 27
(&) 36 (D) 37
fr=fafaa 5 8 39 v FoaETE 2ofi
TR 7

(A) 1,1,2,23 3, ...

(B) 0.3,0.33,0.333, ...
@ V2.2.2\2,4,..
(D) 3.3+2,3+2V2,5+3/2 ...

st i fmm wenes sfufem & sar

STl T T & 919 w8 A o

=[Aaq ferfera 2 =nfew |

(A) T©R, =i, =i, s,

(B) Weiued. =l

(@) 12 9 =aq

(D) =HEl

HiH9R F 97 & Wiy ¥ dey § frsfafas

HAFH-91/8 Fuq g 2 ?

(A) THA T HEEA YR T F SAfEn
%1 U Hifersr s1fam aamn

(B) T8 wfaum % wm- v =1 % Hify
2 # v 3 yraem fan

(® =1 e

(B =1 w8 2

HEIHIETE &1 741 979 2
(A) wEmEd

($) | 9T

(C) TFmm am

(D) Wz
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27.

28.

30.

31.

Find the missing number (7) in the sequence
5. 11,23,7,95, 191,

(A) 47
(C) 49

(B) 48
(D) 50

Aquifer mapping done to assess
(A) Ground water situation

(B) State legal situation

(C) Position of women in the State

(D) Animal census

Consider the following statements and

choose the incorrect regarding Meghalaya
plateau.

(A) It is further sub-divided into Garo Hills.
Khasi Hills, Jaintia Hills

Flatgau stand detached from the main
Peninsular Block

It is also rich in mineral resources like
coal, iron ore, silimanite, limestone
and uranium

This area receives maximum rainfall
from the north-east monsoon

(B)

(©)

(D)

The first Haryanavi movie is
(A) Rijuvi (B) Dharti
(C) Yajurveda (D) Osho

Arrange the following structures of the

atmosphere from the surface of the Earth.

(A) Troposphere — mesosphere =
stratosphere —thermosphere

(B) Troposphere —stratosphere —
mesosphere — the rmosphere

(C) Stratosphere — troposphere =
mesosphere — the rmosphere

(D) Stratosphere — mesosphere =
troposphere — thermosphere

27.

28, WYd

29.

30.

31.

4/2018 (1) (M17)

"i‘ﬁ,ﬁ- 11,23, 7, 95, 191 W §= @ (7)
E GG |

(A) 47

(C) 49

EICISEIE L]

FA U EFEm IR

(%) e e

() T fafires feafa

(€) T=g T uigensi £ fafq

(D) ST 1 SHEE]

HeTeE T30 & w2 1 Frefafaa g asm-m

FGT AGA R 7

(A) =g 3T TR, Tt s St vt o
It 2

(B) TSR & WAEINE THE § e @

(C) T&=Frae, wig a7, fafaiame, =m

) 48
(D) S0

T e TE

et 31 gifaam 38wl we | gy
[

(9) 7 &3 I A waif
T il € |

gEe i fhem 2

(A) frgeh (B) vl

(@ g (D) s

yedl % gUae | agued 6 oAt

T F1 sgatEEm w5

(A evHEs - ReqiE - AEATIEE -
GIRLEC

(B) mﬁqﬁgﬂ—mqﬁza-umﬁaa-
aHES

{C]maﬂ-aﬁﬂdaa-w
aqHEc

(D) EHATHES - weanEd - HivHEd
aMaEs
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32. Joginder Singh is a litterateur from
(8) Shahabad

(A) Jalsa
(C) Panipal (D) Ambala
1) by = 6
33. If the equations x — 2y = 3 and gt ]E:E of

represent the same line, then the va

bis
(A) 4 (B) —4
34. Balmu;kund Guptaisa ____literator
of Haryana.
(A) Sanskrit (B) English
(C) Urdu (D) Hindi

35. InAABC, AB = 613 cm, AC = 12 ¢cm and

BC =6 cm, then B is
(A) 120° (B) 60°
(C) 90° (D) 45°
36. The sum of digits of two digit number is 9.
Also, nine times thig number is twice the

number obtained by reversing the ord
of the digits of the number Tgen Iher i

number is
(A) 18 (B) 81
(C) 38 (D) None of these

37. RBI was set up on the basi
asis
recommendation of Pihe

(A) Indian Central B i
Committee Sl Enqurry

(B) Royal Commission
(C) Simon Commission
(D) Nehry Report

38. The total areg of Haryana s

(A) 44212 sq, kms (B
) 45212 9
(C) 46212 s5q, kms (D) 4?21.?5: k::

92

33.

34.

35.

36.

37.

J8.

39.

fﬂmllfllﬂfﬂlflllllllm.
st fie A U wifefRm g
(A) FEE (& YIEETE
(C) W (D) T=TE
ﬁmx—2y=3m2x+hy=ﬁ
W H e, b AA R o
(A) 4 (B) -4
(@) -2 (D) ¥H & Fré 3
ST ToA1 B o U
Tifefd= € |
(&) weFd (B) Hush
(C) 3% (D) fe=it

AABC H AB = 6v3 &.41., AC = 12 &1
AnBC=6 AH. B, 71 B 2

(A) 120° (BY” 80°

(C) 90° (D) 45°

S F 9 N W HE F 3 F1 3w 4
;amﬁammm#zw%mﬁm

(™) 18 (B) 81

(C) 36 (D) 399 ¥ 78 78
AH#.HE. (RB. !
avantrr{q'{f-minlé]lh i
(A sTeia Sty & st

(B) Ua& #diyp Seh

(C) HEE7 Faftym

(D) &= fgis

BICATOTI %1 e &ryepey 2

(A) 422, B) 4so10aifed
©f 46212 7 fraf (D) 47212 = frst
A Sl FE # o
T‘wmm%.ﬁr “ﬁﬁmltm
(A) H

@ co, 0 o

(D) co
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41

42.

43.

45.

which of the following hills serve
as a

®N Himalayag ang

(A) Tipra Hills
(8) Momi Hills
(C) Aravali Hills
(D) Ambala Hills
The distance between t
(-a,—b) are
(A) O

(C) 2va®+b?

Ne points (a, b) and

(B) 1
(D) None of these

The main presence of Aravali Hills is found
in the District of

(A) Faridabad (B) Rohtak

(€) Gurgaon (D) Hisar

The *Ghampiﬂﬁs of the Earth’ Award is
presented by

(A) UNDP

(B) UNFCCC

(C) UNEP

(D) UN General Assembly

into existence

Panchayat Raj Act came .
Constitutional

pursuant to _
Amendment Act.

(A) 71
(C) 73¢

Ms. X moves 20m

(8) 72
(D) 74"

etres in the East direction
and then turns to her left anq m;aikg
15 metres and then tums to her righ anm
moves 25 metres. After this, sh:l éimr?aw
her right and moves 15 melres. ok

far is she from the starting point .tms

(A) 35 melres (B) mﬂ:uf e
(C) 45 metres (D) Non

reacl with dilute

does not
HCI.
(A) Mg (B) Eu
(©) Al (®)

40.

41.

42,

45.

46.
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Frefaftre § 8 $- gerfeal faem ain
e e e e e o

(A) feae TeTEl

() W T

(C) aqraet) TETEal

(D) S7ETen ) TEEl

firg (a, b) 31 (—a,— b) F A= gl 2
(A) O (B 1

©) 2Va? +b? (D) T | Fé TE
foret of g el 8

(K) TR (B) e

(C) T4 (D) TREm

A AR Hd T '
s o =T #

(Ay” UNDP

(B) UNFCCC

(C) UNEP

(D) HFF T, HEEHl
gaam e sfuf@e % SqEn
g U Atatrm sfeeE | s |

(A) 71 ey 72

(C) 73 (D) 74

g, x qd famn # 20 diex = § s fw
379 &l gt & 3fi 15w = € 3l f

U &, qga 26 Hiet e €| R ae 3
21 HEa 15 Hiet Serdt 1 37, 98 s
frzd Fraft a2 7

& 35 (B) 40 "

(C) 45wt (D) 38 § 18 T
T HCI % ary il
AT |

(& Mg (B) Cu

(C) Al (D) L
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47. If seco= %  then value of

48.

49,

50.

51.

52,

https://haryanajobs.in

2cos20-cot®
20

A) =Y

(A) >

(C) 4

If 157 of August was Wednesday, then

Janzm2 8 — cosec-o is

(B) 0
(D) None of these

1* August of the same year was
(A) Thursday (B) Wednesday
(C) Friday (D) Saturday

During the freedom movement, who
among the following revolutionary tumed
into a philosopher 7

(A) Rash Bihari Ghosh

(B) Aurabindo Ghosh

(C) V.D. Savarkar

(D) Satyendranath Bose

Who among the following has been Speaker
of Haryana Vidhan Sabha for maximum
number of times ?

(A) Kuldeep Sharma

(B) Harmahendra Singh Chadda
(C) Satbeer Singh

(D) Ashok Kumar Arora

Complete the analogy.
Trigonometry : Mathematics - - Zoology -
(A) Botany A
(B) Chemistry

(C) Biology

(D) Bio-Chemistry

The High Court has the i\;ricu .
Article 226 for the enf%“ﬂﬂ?ﬁ Under

(A) Civil Rights
(B) Sanctioning Rights
(C) Fundamental Rights
(D) Child Rights

a7, 7z SEG'E|=% ?,?ﬁ

49.

50.

91.

52,

21an® 6 - coge,s
H HH &
20

Ay =2
i.’}?

(C) 4
4f2 15 30T 1 FUER 71, 7 35 1 g,

Ealk)
(8) Fuan

(A) T
(C) AT (D) wIHEm

e AEeH & 2 frefefas § 55
Fifaarl O gl = T ?

(A) TR fererdt 5

(B) 37tfe =19

(C) 1. B1. HIaE

(D) WeH=AY &5

Fr=ferfiam 5 & = watfrs aw et f
B F TR g e 7

(A) FHerd e

(B) wwez fiw =gy

(C) waem fam

(D) ST FHM arirey

(B) 0
(D) ¥ & #f 3
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3 of the ¢j -
9 cide ‘a' cm islrme "NScribgy in 3
SQuare X AR08 (1) (M17)
ﬁ] ai‘ Cm& HE r ‘a’ n.m $ 91 R Ifﬁﬁh Uﬂ: —qﬂ T
{ as 8) Zem? Elmﬁ ali
(C) Tt‘:m ©) na? (A) a2®.1i.2 (B) a® ] 1 2
—rme 2
Ea. Aand B are friends andm e (C) = g2 (D) H;i .1 2
than A.A's fﬂth&r D is '['I.E IS 2 FEEII"E?I,QUH 4 i
EistwiceashissistErC'EEasmanAag:; 5. AsligfadsAadgaiadamy,
Cdiffer by 40 years, Tp,e. ¢ 298 0f D ang A% a1 D 1 3113 A B 3T R 3B F) 3y
are respectively 9€S of ‘A’ apg oy A9l #EF C A 2t @ 1 D 3t C # g o
(A) 26yrs., 24 yrs. B) 25 40 T4 F1 AT R | A 30 B # Iy . §
(C) 30yrs., 28 YIs. (D) N ¥1s., 23 yr (A) 26 T4, 24 74 (B) 257, 23 a4
One of thege (C) 30ad,28a (D) ¥H & %ré =
55. Which of the following i
harmone ? g 1S a plant 55. FeffEa A8 FH-m s men e 2 7
(A) :;!EUIIITI ‘ (B) Oestrogen (A) 3@‘%’1"" (B) EE'IGH
(C) Cytokinin (D) Testosterone (C) =rEAtEElE (®) =R
56. Damdan?a lake is situated in the District of | 56. zHem e i fEama
(A) Faridabad (B) Gurgaon () T (B) ‘l?;"ﬁa
€)' Rohtak (D) Hisar (C) Jea® (D) fean
57. If'+' means '+', '+' means ‘=, '~'means ‘<’ | 57. afe ' =7 374 % TR ATY TR Y e
?:;:I 'x*ﬁmeans +, than: + 35+ 5-3x7= M F AT R M9+3+5-3x7=
= (8) 1 (A) =5 (B) 15
(C) 25 (D) None of these (C) 25 (D) =8 & T 7H
58. The lake which is dedicated to Sun Godis | 8. ## #a = aufifa =fiw &
(A) Damodara lake (B) Anangpurlake (A) TE@mHE  (B) ST
(C) Hathnikund (D) Surajkund (C) wferfise D) =Fe
59. The force that blood exerts againstthe wall | - 59. T3 ZR1 afea firefl o wwman SaTert e
of a vessel is called (A) : B ¢ |
(A) Diastolic pressure ®) Eﬁg W?FGII [
(B) Hemodialysis (C) mq CAC]
(C) Systolic pressure ®) =
(D) Blood pressure
80. Asbestos is found in the District ©f 60. TER foret o e smen @
(B) Gurgaon (A) femm (B) t[‘lﬂa
::: ghest (D) Mﬂhenﬂfﬂﬂﬂ’h (C) =+ (D) Wz
Kamal
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42018 (1) (17, O O
Bt uret 85. Wﬁﬁ‘m'mmm
79. ;amm=*mmq'ugaﬂ=rmm (A) 31 (B) =ite
(A) 3=rit v (B) T o ey
© = o) R 86. T=ff # & wi adh =1 waw Hifv |
BOR o e g (% Ffm (B) =AM
s ’“_r‘m (C) wm (D) Hfm
(AT T4 | == 78 T8 | 87. 'm=g’
bl ey %a;aa YIe2 % 19 F19 | 396 T8 o
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